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e \documentclass{article}
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e \documentclass{article}

» \documentclass[adpaper]{article}
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e \documentclass{article}
o \documentclass[adpaper]{article}

o \documentclass[adpaper, portrait]{article}
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1 one inch + \hoffset 2 one inch + \voffset
3 \oddsidemargin = -43pt 4 \topmargin = -72pt
5 \headheight = 14pt 6 \headsep = Opt
7 \textheight = 244pt 8 \textwidth = 307pt
9

\marginparsep = 10pt

\marginparwidth = 4pt
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\layout
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oneside: article, oblivoir
twoside: book




B8 HF37 | [geometry

article, report, ...

\usepackage [height=10in,abpaper,hmargin={3cm,0.8in}]{geome!
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\usepackage{geometry}

\geometry{height=10in,a5paper,hmargin={3cm,0.8in}}
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\usepackage [abpaper] {geometry’}
\geometry{hmargin={3cm,0.8in},height=8in}
\geometry{height=10in}



B8 HF37 | [geometry

\paperwidth={ 2! °|}

\paperheight={ 2l °|}




B8 HF37 | [geometry

paper=adpaper




L HFE 7 | |geometry

textwidth=8cm textheight=10cm
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body=width, height
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o left|lmargin|inner
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o left|lmargin|inner

+ right|rmargin|outer
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o left|lmargin|inner

+ right|rmargin|outer

* top|tmargin
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left|lmargin|inner

right|rmargin|outer

top|tmargin
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o hmargin=left, right

o vmargin=top, bottom
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hmargin=left, right

o vmargin=top, bottom

marginA,B

hmarginA,B
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\setstocksize{height}{width}
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stocksize > papersize
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\setstocksize{height}{width}
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o \texthegiht, \textwidth
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HF4 7 [ |Memoir(oblivoir)

09!

o \texthegiht, \textwidth

» \settypeblocksize{height}{width}{ratio}
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HF4 7 [ |Memoir(oblivoir)

\settypeblocksize{6in}{3in}{*}
\settypeblocksize{6in}{*}{0.5}
\settypeblocksize{*}{3in}{2}



THSIHEEL 7| |Oblivoir

\usepackage{fapapersize}

\usefapapersize{paperwidth, paperheight,
leftmargin,rightmargin,uppermargin,lowermargin}

\usefapapersize{210mm, 297mm, 30mm, * , 30mm , 32mm}

\usefapapersize{*,*,30mm, *,30mm, *}
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